______________________________________________________________________________

Economics 12 – spring 2015




Homework #2
______________________________________________________________________________

This assignment will cover the concept of the Keynsian model of economic equilibrium in which output and expenditures are equated to determine equilibrium.
Procedure:  You are to create an excel spreadsheet with the following numbers, and use them to answer the questions that follow.  You will also be creating a graph that represents those numbers.  You must turn in:

· Your spreadsheet

· The required graph
· A copy of your answered questions

The figures below represent the level of GDP and Disposable GDP (Y and Disp Y), as well as values for consumption, investment, government spending and taxes.  You should take the marginal propensity to consume as 80% (0.8) and fill in the table.  Let:

Investment = $50 billion

Government spending = $100 billion

Taxes = $100 billion
   Y
  Disp Y   Consumption   Savings   
  Investment  
    Govt Spend  
Taxes

$  500B
  1000


$1050B
  1500

  2000

  2500

  3000

Procedure:
· Place the information above into an excel spreadsheet.

· Fill in the missing values in all columns

· Find equilibrium GDP based on your calculations

To accomplish this, remember that consumption is equal to autonomous consumption + the marginal propensity to consume multiplied by income.  Taxes, Investment and Government spending are autonomous (fixed).

Step 2:
· Suppose that full employment is $2500B.  Calculate the value of the multiplier.  Input a new value for government spending that brings us to full employment (answer to be inserted into question 2 below).

· Return to your original values.  Calculate the tax multiplier.  What change in taxes will bring us to $2500 (insert answer in #2 below)?

· Return to the original values.  Raise both taxes and government spending by $100B.  Mathematically, using the multipliers, what happens to GDP (do not try to find equilibrium in your table)?

Step 3:

· Create a new copy of your spreadsheet on “sheet 2” in excel.  Set government spending and taxation equal to zero.  Your new equilibrium GDP will be just the sum of consumption and investment.  Find equilibrium.
· Create an AE/45 degree diagram with these new numbers.  Remember that AE is along the vertical axis and GDP is along the horizontal axis.
Questions:

1. Explain the two methods for determining equilibrium that we discussed in class.  Demonstrate that both give you the same answer.
2. If full employment is $2500 billion (GDP, not Disposable Income), what change in government spending will accomplish this?  What change in taxes will do the same thing?
3. What happened when you changed both taxes and government spending by the same amount?  Explain.
4. State the three types of lags we discussed in class.  Which of the 3 are most likely to affect your 2 policy changes in 2) above?  Make sure you discuss both a change in spending AND a tax cut.
